

$$[\partial \bar{E}^i(x, t), A_j(x, t)] = \delta^i_j \delta(x - x') \neq 0$$

For no sources  $\nabla \cdot \bar{E} = 0$

$$[\pi^i(x, t), A_j(x, t)] = -[\pi^i(x, t), A_j(x, t)] = -[\bar{E}^i, A_j'] = -\delta^i_j \delta(x - x')$$

why?

$$[\pi^i(x, t), A_j(x, t)] = -\delta^i_j \delta(x - x')$$

$$[A_\mu, A_\nu] = [\pi^i, \pi^j] = [\pi^i, A_j'] = 0$$

no problem.

To quantify

terms in  $\mathcal{L}$

$$\pi^0(x) = \frac{\partial \mathcal{L}}{\partial \dot{A}_0} = 0 \Rightarrow \text{no source}$$

$$\pi^i(x) = \frac{\partial \mathcal{L}}{\partial \dot{A}_i} = E^i(x) \text{ and } \mathcal{L}(x) = -\frac{1}{4} F_{\mu\nu} F^{\mu\nu}$$

and compare to  $A^i(x)$  (index up)

classically:

Lecture 15 Spin 1 Quantization

you think, what about the Lorentz gauge?

$$\partial_\mu A^\mu = 0$$

independent

This indeed takes  $\#$  dof from 4  $\rightarrow$  3

The field vector must be arbitrary up to  $\partial_\mu A^\mu$

$$A^\mu \rightarrow A'^\mu = A^\mu + \partial_\mu \chi$$

and want  $A'^\mu$  to satisfy Lorentz gauge  $\Rightarrow$

$$\partial_\mu \partial^\mu \chi = 0$$

constraint:

$$\partial_\mu \partial^\mu \chi = -\phi = -A^0 \Rightarrow \phi' = 0$$

$$\text{Then } \partial_\mu A'^\mu = \partial_\mu A^\mu + \partial_\mu \partial^\mu \chi = 0$$

$$\Rightarrow \partial_\mu A'^\mu = 0 \text{ and we recover the Lorentz gauge}$$

so,  $\#$  dof,  $3 \rightarrow 2$  - within the physical

situation for photons.

This is the only photons are, so, we can start

with Lorentz gauge, or recover the Lorentz

gauge.

$$\text{so, } \partial_\mu A^\mu = 0 \Rightarrow 2 \text{ dof.}$$

So, we've had to the problem from a different perspective

$$- [E^a(x,t), \partial A^b(x,t)] = -i \delta^{ab} \delta(x-x') \neq 0$$

||  
0

So, the quantization condition must be modified to enforce PHS  $\rightarrow 0$

$$[A_j(x,t), \pi^i(x',t)] = [-i \eta_{ij} \int d^3L e^{i\mathbf{k} \cdot (\mathbf{x} - \mathbf{x}')} \underbrace{\delta(x-x')}_{\text{2nd rank}}]_{\text{same}} \rightarrow 0$$

now free PHS's gradient  $\rightarrow 0$

$$\frac{\partial}{\partial x^i} [ ] = [-i \eta_{ij} \int d^3L e^{i\mathbf{k} \cdot (\mathbf{x} - \mathbf{x}')} \delta(x-x')] \rightarrow 0$$

$\Rightarrow$  choose

$$\eta_{ij} k_i = 0$$

condition satisfied by

$$\eta_{ij} = \delta_{ij} - \frac{k_i k_j}{k^2}$$

$$k^i \eta_{ij} = k^i - \frac{k^i k^j k_j}{k^2} = 0$$

Define

$$\delta_{\mu\nu} \cdot (\underline{x} - \underline{x}') \equiv \int d^3k e^{i\mathbf{k} \cdot (\underline{x} - \underline{x}')} (\delta_{\mu\nu} - k_{\mu} k_{\nu} / k^2)$$

and

$$[A_j(x,t), \pi^i(x',t)] = -i \delta_{ij} \delta^3(\underline{x} - \underline{x}')$$

This, in some sense, says quantity  $A$  is  $\vec{A}$ .

Then, in the standard way,

$$A(x) = \int d^3k \sum_{\lambda=1}^2 \vec{e}_{\lambda}(k) [a_{\lambda}(k) e^{-ik \cdot x} + a_{\lambda}^{\dagger}(k) e^{ik \cdot x}]$$

Then,  $\vec{\nabla} \cdot \vec{A} = 0 \Rightarrow \vec{k} \cdot \vec{e}_{\lambda} = 0 \Rightarrow$  transverse

photons ✓

BUT, this is unsatisfying as it's not manifestly

Lorentz covariant. Moreover, there is essentially no canonical momentum to  $A_0$  which we expect,

Indeed, we must have a gauge-fixing condition

$$[\pi_0(x,t), A_{\nu}(x',t)] = -i \delta_{\nu 0} \delta^3(\underline{x} - \underline{x}')$$

write  $A_{\nu} \rightarrow \hat{A}_{\nu}$ , an operator, and we

expect

$$\hat{\pi}_{\mu} \rightarrow \hat{\pi}_{\mu} - A_{\nu} \text{ commutes with } \pi_0$$

since  $\pi_0 = 0$

no,  $\pi_{\nu} + \pi_{\nu}'$  don't like a C-number

momentum

According to Fermi -

need to maintain  $\square A_\mu = 0$  in equation of motion.

$$\mathcal{L} = -\frac{1}{4} F_{\mu\nu} F_{\mu\nu} - \frac{1}{2} (\partial_\mu A^\mu)^2 \text{ " gauge fixing term "}$$

$$\left. \begin{aligned} \frac{\partial \mathcal{L}}{\partial A^\mu} &= g_{\mu\nu} \frac{\partial A^\nu}{\partial x^\mu} \\ &\Rightarrow -\frac{1}{2} g_{\mu\nu} \frac{\partial A^\mu}{\partial x^\nu} \frac{\partial A^\nu}{\partial x^\mu} \end{aligned} \right\} (g_{\mu\nu})^2$$

$$\frac{\partial \mathcal{L}}{\partial A^\mu} \left( \frac{\partial A^\mu}{\partial x^\nu} \frac{\partial A^\nu}{\partial x^\mu} \right) - \frac{\partial \mathcal{L}}{\partial x^\mu} = 0$$

now derive +  $\square A_\mu = 0$

$$\frac{\partial \mathcal{L}}{\partial A^\mu} = -F_{\mu\nu} - g_{\mu\nu} \partial^\alpha A^\alpha$$

$$\square \frac{\partial \mathcal{L}}{\partial A^\mu} = \partial^\nu (F_{\nu\mu} - g_{\mu\nu} \partial^\alpha A^\alpha) = \partial^\nu \left( \frac{\partial A^\nu}{\partial x^\mu} - \frac{\partial A^\mu}{\partial x^\nu} - g_{\mu\nu} \frac{\partial A^\alpha}{\partial x^\alpha} \right)$$

$$= \partial^\nu (\partial_\nu A_\mu - \partial_\mu A_\nu - g_{\mu\nu} \partial^\alpha A^\alpha)$$

$$= g_{\mu\nu} \partial^\nu A_\mu - g_{\mu\nu} \partial^\nu A_\nu - \partial_\nu \partial^\alpha A^\alpha$$

$$= -g_{\mu\nu} \partial^\nu A_\nu + \partial_\nu (g_{\mu\nu} A^\nu - \partial^\alpha A^\alpha)$$

$$\square A^\nu = 0$$

✓ STN get equations of motion

with speed

The extra term is added to gauge fixing term -

since there this is made gauge

like a Lagrange multiplier - a constraint

$$\mathcal{L}(x) = -\frac{1}{2} \sum_{\nu} F_{\nu} - \frac{\lambda}{2} (\sum_{\nu} A_{\nu}^2)$$

of equations & matrix:

$$\square A'' - (1-\lambda) \partial_{\mu} (\partial_{\mu} A'') = 0 \quad (\text{not Maximal})$$

$\lambda = 1$  "Feynman gauge" (a "Feynman gauge")  
 $\lambda = 0$  "Landau gauge"

now  $\Pi_{\mu} = \frac{\partial \mathcal{L}}{\partial \dot{A}^{\mu}} = F_{\mu\nu} = 2(\dot{A}^{\nu} - \partial^{\nu} A^0)$   
 $\frac{\partial \mathcal{L}}{\partial A^{\mu}} = F_{\mu\nu} = 2(\dot{A}^{\nu} - \partial^{\nu} A^0)$

$$= F_{\mu 0} - \partial_{\nu} A^{\nu} \delta_{\mu 0}$$

$$\Pi^0 = F_{00} - \partial_{\nu} A^{\nu} = -\partial_{\nu} A^{\nu}$$

But, this is not in the L.G. stay fixed

~~of that is to look for the constraint operators~~  
~~identity to a statement about the constraints.~~

$\langle \eta | \partial_{\mu} A^{\nu} | \eta \rangle = 0 \rightarrow$  L.G. and  
 Maxwell's eq  
 still hold in a  
 classical limit

classical vector field

$\partial_{\mu} A^{\nu} = 0$  worked for  
 change - operators, not change

$$h^A = (h, 0, 0, h)$$

Pressure momentum along 3 axis -

How do these look?

$$\sum_x \int_x \epsilon^{\mu\nu} \epsilon_{\nu}^{(x)} = -g_{\mu\nu}$$

Completeness:

$$= g_{\mu\nu} = -\int_x \delta_{\mu\nu} \text{ where } \int_0 = -1$$

$$\int_2 = +1$$

$$= \epsilon_{(x)0} \epsilon_{(x)0} - \vec{\epsilon}_{(x)} \cdot \vec{\epsilon}_{(x)} \text{ and demand}$$

$$= \epsilon_{(x)\mu} g^{\mu\nu} \epsilon_{(x)\nu}$$

$$\epsilon_{(x)} \cdot \epsilon_{(x)} = \epsilon_{(x)\mu} \cdot \epsilon_{(x)^\mu}$$

orthonormality

$$\epsilon_{(x)^\mu} = \text{spacelike vector}$$

$$\epsilon_{(x)0} = \text{timelike vector}$$

forall

$$A_\mu(x) = \int DK \sum_{\lambda=0}^3 g_{\mu\lambda}(h) [a_\lambda(h) e^{-i h \cdot x} + a_\lambda^\dagger(h) e^{i h \cdot x}] *$$

So, now we deal with a covariant expansion -

and we can define

$$E_0 = (1, 0, 0, 0) \quad E_1 = (0, 1, 0, 0) \quad E_2 = (0, 0, 1, 0) \quad E_3 = (0, 0, 0, 1)$$

scaler or translate matrix

linear transformation

The commutation relations for  $\hat{A}$  as we can write as -

go back

$$\pi^x = \frac{\partial \mathcal{H}}{\partial \dot{x}} = p_{x0} - q_{x0} = \frac{\partial \mathcal{H}}{\partial \dot{x}}$$

$$\text{or } \pi^0 = p_{00} - q_{00} = \frac{\partial \mathcal{H}}{\partial \dot{t}} = -q_{t0}$$

$$\pi^x = p_{x0} - 0 = \frac{\partial \mathcal{H}}{\partial \dot{x}} - \frac{\partial \mathcal{H}}{\partial \dot{x}}$$

$$[\pi^x(x, t), \pi^y(x', t)] = \delta_{xy} \delta^3(x - x')$$

$$[\pi^x(x, t), A_y(x', t)] = 0$$

$$\frac{\partial}{\partial x_i} \rightarrow \left[ \frac{\partial}{\partial x_i}, A_j(x', t) \right] = 0$$

→ spatial derivatives commute at equal time

So, from

$$[A_\mu(x, t), \pi_\nu(x', t)] = \delta_{\mu\nu} \delta^3(x - x')$$

only the time derivatives  $\dot{\pi}$  inside  $\pi$  won't commute, so

$$[A_\mu(x, t), \dot{A}_\nu(x', t)] = -\delta_{\mu\nu} \delta^3(x - x')$$

part of  $[A, \pi]$  stays

hmm that's not good!  
L.G = 0!



So, what's wrong?

We have  $[\hat{A}_\mu(x,t), \hat{\pi}_\nu(x',t)] = -i g_{\mu\nu} \delta(\vec{x}-\vec{x}')$   
and  $[\hat{A}_\mu(x,t), \hat{A}_\nu(x',t)] = 0$

If we're treating quantum fields, we would like  
for L.G. conditions:

$$\partial_\mu \hat{A}^\mu = 0 \rightarrow \partial_\mu \hat{A}^\mu = 0$$

But look:

$$[\hat{A}_\mu, \hat{\pi}_\nu] = [\hat{A}_\mu, F_{\nu 0} - g_{\nu 0} (\partial_\alpha \hat{A}^\alpha)]$$

$$= [\hat{A}_\mu, \partial'_\nu \hat{A}'_0 - \partial'_0 \hat{A}'_\nu - g_{\nu 0} (\partial'_\alpha \hat{A}'^\alpha)] = -i g_{\mu\nu} \delta(\vec{x})$$

Look at  $\nu = \lambda$

$$[\hat{A}_\mu, \partial'_\lambda \hat{A}'_0 - \partial'_0 \hat{A}'_\lambda - 0] = -i g_{\mu\lambda} \delta(\vec{x})$$

$$[\hat{A}_\mu, \partial'_\lambda \hat{A}'_0] = [\hat{A}_\mu, \partial'_0 \hat{A}'_\lambda] = -i g_{\mu\lambda} \delta(\vec{x})$$

$$\partial'_\lambda [\hat{A}'_\mu, \hat{A}'_0] - [\hat{A}'_\mu, \partial'_0 \hat{A}'_\lambda] = 0$$

$$\begin{aligned} \mu = \lambda &: \hat{A} - [\hat{A}'_\lambda, \partial'_0 \hat{A}'_\lambda] = i \delta(\vec{x}) \\ \mu \neq \lambda &: \hat{A} - [\hat{A}'_\mu, \partial'_0 \hat{A}'_\lambda] = 0 \end{aligned}$$

$$\hat{A} - [\hat{A}'_\mu, \partial'_0 \hat{A}'_\lambda] = 0$$

label of  $V = 0$

$$[\tilde{A}'_{\mu}, \partial_0 \tilde{A}'_0 - \partial_0 \tilde{A}'_0 - \partial_x \tilde{A}'_x] = -i g_{\mu 0} \delta(x-x')$$

$$[\tilde{A}'_0, -\partial_x \tilde{A}'_x] = -i \delta(x-x')$$

$$[\tilde{A}'_0, -\partial_0 \tilde{A}'_0] - [\tilde{A}'_0, \partial_x \tilde{A}'_x] =$$

$$[\tilde{A}'_0, -\partial_0 \tilde{A}'_0] - \partial_x [\tilde{A}'_0, \tilde{A}'_x] =$$

$$[\tilde{A}'_0, -\partial_0 \tilde{A}'_0] = -i \delta(x-x')$$

$$[\tilde{A}'_i, \partial_x \tilde{A}'_x] = 0$$

$$[\tilde{A}'_i, \partial_0 \tilde{A}'_0] - \partial_j [\tilde{A}'_i, \tilde{A}'_j] = 0$$

$$[\tilde{A}'_i, \partial_0 \tilde{A}'_0] = 0$$

$$\Rightarrow \text{an } \star \Rightarrow [\tilde{A}'_{\mu}(x,t), \tilde{A}'_{\nu}(x',t)] = i g_{\mu\nu} \delta(x-x')$$

So, first y all, we have commutators  
 where  $\partial_x \tilde{A}'_x = 0$  then not hold an  
 operator identity



From  $\star \star$

Also, the noncommutativity of  $\nabla$  and  $\delta$  leads to trouble

$$[\nabla_{\mu}(x,t), \delta_{\nu}^{\lambda} x^{\nu}] = -i g_{\mu\nu} \delta(x-\bar{x}^{\nu}) \neq 0$$

The above is equivalent to saying

not  
consistent

Substitute the expressions for  $A_n$  and  $A'_n$  --

$$[a_{(x)}(w), a_{(x)}^\dagger(w')] = -g_{xx} 2\hbar \delta(2\pi)^3 \delta(t-t')$$

negative sign is problematic - esp for timelike

Consider a timelike, 1-particle state,

$$|w^{(0)}\rangle = \int dK f_k(x) a_+^\dagger(k) |0\rangle$$

find the norm

$$\langle w^{(0)} | w^{(0)} \rangle = \int dK \int dK' f_k f_{k'}^* \langle 0 | a_{(0)}(k) a_{(0)}^\dagger(k') | 0 \rangle$$

Use commutation relations -

$$= \int dK \int dK' f_k f_{k'}^* \langle 0 | -2\hbar (2\pi)^3 \delta(t-t') | 0 \rangle$$

$$= - \int d^3k \int d^3k' f_k f_{k'}^* \delta(t-t') \langle 0 | 0 \rangle$$

$$= - \int dK |f_k|^2 \rightarrow \text{a negative norm!}$$

time-like particle state - norm  $\downarrow$

$f_n$  2 time-like particle state + norm

" 3 - norm

$\rightarrow$  integrate!

is odd insist to anyway.

$$N_{(0)}(h) = -a_{(0)}^\dagger(h) a_{(0)}(h)$$

is that the free-like photon contribution to the energy is negative.

The way out is to demand a weakened "subsidiary condition":  $a_{\mu}^\dagger A^\mu = 0$  as an operator identity is too strong - use physical states.

$$\hat{a}_{(0)}^\dagger | \psi \rangle = 0 \quad (\text{already satisfied in the vacuum, } \hat{a}_{(0)} | 0 \rangle = 0)$$

Since then in  $\langle \psi | \hat{a}_{\mu}^\dagger | \psi \rangle = 0$  ✓

$$= \langle \psi | \hat{a}_{(+)\mu} \frac{\partial x^\mu}{\partial x^\nu} + \hat{a}_{(-)\mu} \frac{\partial x^\mu}{\partial x^\nu} | \psi \rangle$$

demand = 0  
↓  
-  $\hat{a}_+ \rightarrow 0$

$$= \langle \psi | \hat{a}_{(-)\mu} \frac{\partial x^\mu}{\partial x^\nu} | \psi \rangle = \langle \psi | \hat{a}_{(+)\mu} \frac{\partial x^\mu}{\partial x^\nu} | \psi \rangle = 0$$

Called Gupta-Bleuler quantization - 1950.

G.B.

put expression in  $A_{(\mu)}^\dagger$  with condition done, from  $\delta$

$$\sum_{\lambda=0}^3 k^\mu \in_{(\lambda)\mu} a_{(\lambda)}(k) | \psi \rangle = 0$$

↓  
0114

need to make two happen

for  $\gamma$  in  $k_3$  domain, for example,

$$k^m = (k, 0, 0, k) \rightarrow \alpha \cdot k \cdot \epsilon_{(1,2)} = 0$$

we get for GIB condition:

$$[k^m \epsilon_{(0)P} a_{(0)}(k) + k^m \epsilon_{(3)P} a_{(3)}(k)] | \psi \rangle = 0$$

from the definition of  $\epsilon_0$  and  $\epsilon_3$ ,

$$k^m \epsilon_{(0)P} = -k^m \epsilon_{(3)P} \quad \text{no.}$$

$$k^m \epsilon_{(0)P} [a_{(0)}(k) - a_{(3)}(k)] | \psi \rangle = 0$$

$$\text{no.} \quad (a_{(0)}(k) - a_{(3)}(k)) | \psi \rangle = 0$$

seen as a constraint on the physical and longitudinal pieces.

considered to be

Physical states will be advantages of those 2 no

that no constraint holds.  $\rightarrow$  there are no 1 particle physical states of only three like photons

What does this mean practically -

The Hamiltonian can be constructed in the standard fashion to be,

$$H = \sum_{k=0}^{\infty} \int dx \, a_{+}^{(k)}(x) a_{-}^{(k)}(x) \hbar \omega_k$$

Even though  $\int_0 = -1$  - the energy is positive definite

ie 
$$\int dx \, \hbar \omega_k \left\{ \sum_{k=0}^{\infty} a_{+}^{(k)}(x) a_{-}^{(k)}(x) - a_{+}^{(0)}(x) a_{-}^{(0)}(x) \right\}$$

What about  $\langle \psi | H | \psi \rangle$  ?

$$= \langle \psi | \int dx \, \hbar \omega_k \left\{ \sum_{k=0}^{\infty} a_{+}^{(k)}(x) a_{-}^{(k)}(x) + a_{+}^{(3)}(x) a_{-}^{(3)}(x) - a_{+}^{(0)}(x) a_{-}^{(0)}(x) \right\} | \psi \rangle$$

The subsidiary condition says

$$a_{-}^{(0)}(x) | \psi \rangle = a_{+}^{(3)}(x) | \psi \rangle$$

It's a direct consequence

$$\langle \psi | a_{+}^{(0)}(x) = \langle \psi | a_{-}^{(3)}(x)$$

$$\langle \psi | a_{+}^{(0)} a_{-}^{(3)} | \psi \rangle = \langle \psi | a_{+}^{(3)} a_{-}^{(0)} | \psi \rangle$$

$$= \langle \psi | a_{+}^{(3)} a_{-}^{(0)} | \psi \rangle$$

concludes

$$\langle \psi | H | \psi \rangle = \langle \psi | \int dx \, \hbar \omega_k \left\{ \sum_{k=0}^{\infty} a_{+}^{(k)}(x) a_{-}^{(k)}(x) \right\} | \psi \rangle$$

→ only the physical states

contribute: 2 dof



A word about massive spin fields -

In your problem set you'll find that for spin 1 massive fields,  $B_\mu$ , that  $\frac{\partial B_\mu}{\partial x^\nu} = 0$

THIS IS NOT A GAUGE CONDITION - only a constraint which comes from the equation of motion - Proca Equation

An expansion of the sort

$$B_\mu = \int \frac{d^3k}{(2\pi)^3} \left[ \epsilon_{\mu\lambda}^{(+)}(k) a_\lambda(k) e^{-ik \cdot x} + \epsilon_{\mu\lambda}^{(-)}(k) a_\lambda^\dagger(k) e^{ik \cdot x} \right]$$

Ad

The constraint  $\Rightarrow k \cdot \epsilon^{(\lambda)} = 0$  4 components  $\rightarrow 3 \checkmark$

From  $K = -\frac{1}{4} F_{\mu\nu} F^{\mu\nu} + \frac{1}{2} M^2 B_\mu B^\mu$  gives K.G. equation } called Proca Equation.

we set  $\pi^\mu = \frac{\partial K}{\partial \dot{B}_\mu} = 2M^2 B^\mu - B^\mu \Rightarrow \pi^\mu = 2M^2 B^\mu - 2M^2 B^\mu = 0$  5th

now using  $\partial_\mu B^\mu = 0 \Rightarrow$  we can eliminate  $B^0 \rightarrow B^0$

$$\pi^0 = -B^0$$

and

$$[B^i(x,t), \pi_j(x',t)] = i \delta^i_j \delta^3(x-x')$$

because,

$$[B_i(x,t), B_j(x',t)] = i g_{ij} \delta^3(x-x')$$

W/ expansion substituted,

$$[a_{(1)}(k), a_{(2)}(k), \dots] = \delta_{1k} 2L^3 \delta_3(k-F)$$

no negative sign. → all is good however  
 $\pi_n$  is different.

Polarization tensor is different:

In the rest frame  $k \cdot \epsilon = 0$  is satisfied by

$$h^r = (M, 0, 0, 0)$$

$$\epsilon_{(1)}^r = (0, 1, 0, 0)$$

$$\epsilon_{(2)}^r = (0, 0, 1, 0)$$

$$\epsilon_{(3)}^r = (0, 0, 0, 1)$$

usually

spatial case

$$\epsilon_{(1)}^r = -\frac{1}{\sqrt{2}}(1, i, 0, 0)$$

$$\epsilon_{(2)}^r = \frac{1}{\sqrt{2}}(1, -i, 0, 0)$$

circularly polarized, but is spherical

masses referred to  $\omega$

$$\epsilon_{(0)}^r = (0, 0, 0, 1)$$

$$k \cdot \epsilon_{(i)} = 0 = k^0 \epsilon_{(i)}^0 + \sum_j k^j \epsilon_{(i)}^j$$

rest frame: define  $\epsilon_{(i)}^r = 0 \Rightarrow k^0 \epsilon = M(\omega) + \sum_j (k^j) \epsilon_j = 0$

Boost along z-direction:  $k \rightarrow k^r = (E, 0, 0, k^z)$

$h \in!$

$$\epsilon_{(0)}^r(k_{rest}) = (0, \vec{\epsilon}^r)$$

$$\epsilon_{(i)}^r(k) = \epsilon_{(i)}^r(k_{rest}) = (0, \vec{\epsilon}^r)$$

Boost 3

What about  $\lambda=0$ ?

$$k_1 \epsilon_{(0)} = E \epsilon_{(0)} - k^3 \epsilon_{(0)} = 0$$

construct:  $\epsilon_{\mu}^{(0)} \equiv (k^3/M, 0, 0, E/M)$

$$= (r\beta, 0, 0, r)$$

then,  $k \cdot \epsilon_{(0)} = E(k^3/M) - k^3(E/M) = 0$

So, we summarize

$$\epsilon_{\mu}^{(\pm)} = \pm (0, 1, \pm i, 0)$$

transverse

$$\epsilon_{\mu}^{(0)} = (r\beta, 0, 0, r)$$

longitudinal

form necessary for next spin 1 massive.